5584[0 XILYAM (ER30F1R)

BT JEEES

JIE3 K £ P = ouT IN TOT HC NET

N B B K 1A6H 52 47 99 28.8 70.2
2 it B B = 1H6H 52 39 91 19.2 71.8
3 M £ # 3 1H6H 46 51 97 24.0 73.0
4 E B = & 186H 49 41 90 16.8 73.2
5 N K B = 1H6H 45 51 96 22.8 73.2
6 & J & 1814H 51 48 99 25.2 73.8
7 X B B X 1H6H 45 52 97 22.8 74.2
8 A B F — 186H 52 51 103 28.8 74.2
9 Z B OB’ 186H 47 49 96 21.6 74.4
10 A B B m 1814H 55 50 105 28.8 76.2
11 7K e i 186H 50 55 105 28.8 76.2
12 NS 7 S A 18148 51 46 97 20.4 76.6
13 M 8 LK = 186H 56 53 109 32.4 76.6
14 H & & ¥ 186H 48 48 96 19.2 76.8
15 2 m 1L = 18148 63 50 113 36.0 77.0
16 fg @ 6 K BB 186H 57 56 113 36.0 77.0
17 H % — &b 18148 53 53 106 28.8 77.2
18 X % kX 186H 54 52 106 28.8 77.2
19 E Iy # 2z 186H 50 47 97 19.2 77.8
20 R A H = 18148 55 48 103 25.2 77.8
21 N B OrmT B 1H6H 47 48 95 16.8 78.2
22 )i N 2l 186H 55 56 111 32.4 78.6
23 E OB M = 18148 50 59 109 30.0 79.0
24 * # s Al 186H 54 48 102 22.8 79.2
25 L O & 18148 53 49 102 22.8 79.2
26 moR A 186H 51 51 102 22.8 79.2
27 A E = 186H 52 55 107 27.6 79.4
28 x A & B 18148 48 47 95 15.6 79.4
29 x # B 18148 58 55 113 33.6 79.4
30 A i = 18148 49 48 97 16.8 80.2
31 E R OIE B 186H 62 46 108 27.6 80.4
32 W &x 8 3h 1H6H 49 59 108 27.6 80.4
33 N B R OB 1H6H 49 51 100 19.2 80.8
34 T BH = 1H6H 60 57 117 36.0 81.0
35 Xk B B X 186H 58 58 116 34.8 81.2
36 th & 1 1HA6H 65 50 115 33.6 81.4
37 X H = O 186H 50 53 103 21.6 81.4
38 g MW N & 18148 53 47 100 18.0 82.0
39 = 7K 3 186H 56 56 112 30.0 82.0
40 = m A 1H6H 57 52 109 26.4 82.6
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ST B

[[=Xiva K & JL—-H ouT IN TOT HC NET
41 B R #0 = 1H14H 69 50 119 36.0 83.0
42 7 K 5 1H6H 53 52 105 21.6 83.4
43 #= ¥ B =B 1H14H 57 57 114 30.0 84.0
44 [z | = B 1814H 64 55 119 34.8 84.2
45 X R =] B 1H14H 58 55 113 28.8 84.2
46 5 % wF 1814H 55 56 111 26.4 84.6
47 B 27 K 7 8 1H6H 59 52 111 26.4 84.6
48 H =& E B 1H6H 52 60 112 22.8 89.2
BB =T K X 1H6H 78 57 135 36.0 99.0
50 R B 2 M 1H6H 67 71 138 36.0 102.0
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